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Question 6¢ June 2011

Evaluate whether or not Bike Angels should be established as a
registered charity. [12 marks]

Response 1 [Awarded 4 marks]

In the second sentence of this response the candidate gives a benefit of becoming a
registered charity — gift aid. This is a Level 1 response. However, in the third sentence this
benefit is developed to explain that the gift aid will lead to more profit for Charlie to promote
cycling to school and purchase bikes for deprived areas. This is clearly a contextualised
benefit and the response enters Level 2.

The remainder of the response adds nothing to the argument, at best repeating the
contextual benefit already stated. The highest level achieved is, therefore, Level 2. A low
Level 2 mark, of four, is awarded as per the mark scheme for stating one advantage in
context. :

a3
g (c) Evaluate whether or not Bike Angels should be established as a registered charity.
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Response 2 [Awarded 3 marks]
Several benefits and drawbacks of becoming a registered charity are put forward in this
response — get a better name, VAT exemption, lots of paperwork, slow set up process.

None of these are written in context, and as such would apply to all organisations thinking of
becoming registered charities. This response is, therefore, limited to Level 1 marks. The top
Level 1 mark, of three, is award as per the mark scheme for identifying both advantages and
disadvantages in context.

August 2011



Ilie oviipt

A UsvY ooV U

16

Teees sescesssacsencranatsens

. ssessesrrecrive

seese

eessecsscssssreerconsesnana

seesves

sesesescessasassacissanene

. cereanasescctatsesnssasesanesasersernnssetione

ELTTY R

terare cevaaes erecdets0ratecteteresrertniasstacrtacantrtstoansanans

e s0008800060000000880000P0NTeerreNesarsanaentaEeIasEerTeTIERTIaEreTEettessesee0tceieiesrttitatetoNIattatat tasatInERIsIrIeTeResuIRRteRIIIRNY

sesisssrsessrtrsistesssacstancatatssstatassantse sescenraceraces

crrerae

ssesesanstetenerrrararataseasteaisreanerarsesrnerre

teeetssetentstastsaatsenrataninscatesusnssencivecavanaraate

serne

esssescsraresessane

eeeseecrornrareseentsrcscanasasatssisssassssesenaneten . sess vetsasssesesacsessaranasssavassstseestotsretetcesennen

. SRR . |

{Total: 16]

Worln

Y

Yooy eloloiorolee]

https://www.ca.scoris.rm.com/RmScoris_Al/ImageViewer/PrintDocument.aspx?CSIL... ~ 24/08/2011



Question 5 June 2011

There is a possibility of producing a pair of funky indicator gloves which will only last
as long as the batteries (approximately three months depending on use), which would
be cheaper to manufacture than funky indicator gloves with renewable batteries.

Recommend which type of gIoVes Charlie should produce. Justify your answer.‘
- [12 marks]

Response 1 - [Awarded 7 marks]

In the second sentence the link between corporate image and non-renewable (obsolescent)
products is explained. Sadly ‘products’ is the word the candidate uses throughout this
sentence, there is no attempt at contextualising the answer is made, not even a reference to
gloves. The response, therefore, sits in Level 1.

Thankfully, the second paragraph is much better — the candidate suggests that non-
renewable gloves will mean higher sales. The fact that customers will need to purchase
frequent replacements of the gloves is not only valid but contextualised (a Level 2 response).
This benefit of non-renewable gloves requiring repeat purchase is then developed
analytically to explain the significance to Bike Angels — more profit is likely to be made (a
Level 3 response).

The final paragraph, an attempt to make a decision, is confused and inaccurate — the
candidate appears to have the two types of gloves the wrong way round — and is therefore
invalid. The maximum level which this response achieves is Level 3. The candidate is
awarded seven marks, as per the mark scheme, for analysing one advantage to Bike Angels
in context. '
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5* Thereisa possibility of producing a pair of funky indicator gloves which will only last as long as the
batteries (approximately three months depending on use) which would be cheaper to manufacture

than funky indicator gloves with renewable batteries.

Recommend which type of gloves Charlie should produce. Justify your answer.
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Response 2 [Awarded 11 marks]
This response contains several benefits/drawbacks of renewable/non-renewable products.
Most of the arguments are expressed in context with references to 3-months, materials and
gloves throughout. One of the arguments relating to receiving heavy criticism from
producing gloves which are non-renewable (a Level 2 response) is developed analytically to
explain the significance to Bike Angels — this could ruin Bike Angels’ reputation — (a Level 3
response).

The final paragraph recommends that Bike Angels should produce the renewable type of
gloves. Two valid reasons for this decision are given. Both reasons centre around improved
reputation, firstly a ‘greener’ reputation and secondly a ‘more reliable’ reputation. The
recommendation is justified and enters Level 4. A mark of 11 is awarded.
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5* There is a possibility of producing a pair of funky indicator gloves which will only last as long as the
batteries (approximately three months depending on use) which would be cheaper to manufacture
than funky indicator gloves with renewable batteries.

Recommend which type of gloves Charlie should produce. Justify your answer.
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